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1.

Which one of the following groups of drugs
are legal in Kenya but harmful.

A. Bhang, heroine,mandrax

B. Heroin, khat, tobacco.

C. Tobacco, khat, alcohol.

D. Beer, tobacco_, bhang.

A child had the following signs:
(i) Diarrhoea with myucuys.
(i) Dehydration

(iii) Severe stomach ache.
(iv) Abdominal pains.

Which precaution should be taken to prevent |

the spread of above disease?

A. Observirfgcleanlines’s v
B. Eatmg wellcookedfood

Which one of the followmg, actxvxtxes help to{

lraHSm“ HIV‘)
A. Mosquito b,te -
B. Shak’“ghand,
C. Sharing utensils™
D. Breast feedin o

Which one of the following is a health effect
of HIV/AIDS? :
A. Violence
B. Impaired judgements

* C. Marital conflicts
D. Rape

orlz met.
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The diagram below represents a simple beam
balance.

L=/

Which is the last step when making it

A. fixing the stand and the arm to the base.

B. suspending the arm to find balancing
point. '

C. suspending the tins on both side.

“D. makin\g"the;base, stand and the arm.

J:'nct:on” , :
,?Mail;mg work more efﬁcmnt
~B. Usefulin svwmmmg and flying,
) C. Increases motion. ‘
~D.~Increasing by treadmg.

.+ Which one ofthe following is NOT a

maintainance done in ALL simple tools?
A. Proper storage.

B. Repairing broken parts.

C. Proper usage.

D. Oilingandgreasing., :

Force can do all the followmg EXCEPT
A. Causes motion :
B. Changes the shape of an object

C. Changes the state of an object.

D. Stop amoving object.
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Which one of the followmg 1s TRUE about



9. Thediagram below represent a simple blood
circulatory system

o N
Lungs S HeUdy

P 0

* The vessels that have valves are represented
by letter. -
A. Pand N
B. Oand M
C.MandN
D. Pand O

11.

In human bodyfth release’o ex‘”cell
takes place in the%
A. fallopiantube

B. urethra

C. ovary and testis

D. testis only

12.
of birth process in humans?
A. Dllatxon of the cervix ,' ,
B. Contraction ofthe utems -
C. Bursting of the amniotic sac.
D. Cutting of the umbilical cord.

Whlch one of the followmg is lhe ﬁrst sta;_.,c

13. How many incisors and molars are in the

upper jaw of'an adult RESPECTIVELY.
A.4and 6
B. 2and 4
C.4and4
D. 8and 12
14. Which isthe BEST procedure of separating
a mixture of maize, bean and sugar?
A. Dissolving, filtering, picking,
evaporation
B. Picking, filtering, dlssolvmg,
cvaporation.

T C. Picking, dissolving, filtering,

evaporation.,
D. Winnowing, dissolving, filtering,
evapOration; i

Whlch ne of the followmg isauseofa
;ﬁ pprox1 "“ately 21%in the
atmosphere" .

.mous to make proteins.

D. s;;,p{so’rf burm

Study the diagram below -' s

The diagram shows that pressure in the liquid
A. increases with depth.
increases with height.

B
C. decreases with depth.
D. isequal at the same depth.
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17. Which one of the following consists of
substances that have no definite volume but
have definite mass?

A. Qil and water

B.  Oxygen and water vapour

C. Stoneand candle wax

D Watex" vapour and toothpaste

18. Which two processes changes steam into ice?

A. Melting and freezing

B. Evaporation and melting

C. Condensation and freezing

D. Evaporation and condensation

19. Which one will e‘cpafzd MOST on heatmg‘?

A. metal - &

B. candle wax
C. steam
D. water’ .-

20. A snake moves
A. gliding
B.- crawling
C.. walking
D. slithering
21. Whichone Gf the following is NOTa control
‘measure of livestock parasnte"

A. prunmg o

B. dipping

C. spraying _

D. paddocking

24.

of animals.

Animals

Lay fertilised eggs  Lay unfertilised eggs

M N~

~The animal N and M can be BEST
represented by
N M
A. Tortoisc

Which onc of'the foliowmg statements about '
windvane is NOT TRUE?
A. The tail should be larger than the arrow
head. - _
B. It should be placed in an open space.
- C. Thearrow points the direction in which
-the wind is blowing to.
D. It hasa compass.
25. Clouds are classified into mountainous and
- feathéry due to their
A. colour
B. appearance
C. weight
D. height
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22. Thechart below shows a simple classification
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26. Inthesolar sy.stem,' mars is found between
A. Jupiter and Saturn
B. Saturn and Uranus
C. MerCury and Neptune.
D. Earthand Jupiter.
27. The property of iigﬁt‘used in the mirror is
that light
A. travel inastraight line.
B. isrefracted.
C. passes through transparent material.
D. beunces back.
28 The diagram below represenis a certain

property of matter.

metal rod

stand —

The pin fell after sometime due to-
A. convection and conduction.

B. radiation only.

C. conduction only.

D. radiation and conduction.

the same way as oiled paper?
A. Windscreen

~ B. Clear water

- C. Fronted glass
D. Wood

Which_ Qﬂé of the_fo-l.l_owing materials WOtsk. |

30. The following are uses of heat EXCEPT.
‘A. Cooking food.
B. Warming the house.
C. Discouraging pests.
D. Dry,ing'grain.

What will happen to balloons brought

31.

together when rubbed with two different
materials? '
A. attract
- B. repel
-C. remain the same
D. neither repel nor attract.
“The féﬁ&ﬁiﬁg’g@ artificial sources of heat
EXCEPT. -
A Sun
-~ 'B. Electricity -

<Ihe=diagram be
_classification of fi

Vitamin .

- Protein

Which of the following food can be
represented by E? '

A. Groundnut

B. Ugali

C. Mik

D. Fish
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34. Which one of the following nutritional
deficiency diseases is caused by lack of a
certain minerals?

A. Marasmus and kwashiorkor.
B. Kwashiorkor and anacmia.
C. Anaemia and ricket. ‘

D. Marasmus and ricket.

35. Which one of the following method of
preserving food is BOTH modern and
traditional? ‘
A. Smoking
B. Saltimg
C. Canning

D. Drying

on the stem and leaves"
A. Thorn apple

B. Oxalis °
C. Black jack

D. Sodom apple

Which two parts forms the cmbryo?
A. PandR
B. Tand S
C. Rand S
D. PandT

e e O

Which one of tt e“ffollowmg isan effect of
~ pestson ammals"

Cause 1seases to consumers

A Kales
~ B. Sugarcane
C. Carrot

41 ‘Which one of the follOw’i-r:ll"gw’s'tyatc_:me'_nt is

~ TRUE about loam soil?

' A. Make the shortest ribbon.
B. Bestin modelling o
C. Easily water logged.

D. Has large air space.
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-42, The following are cxamples of nitrogenous
fertilizer EXCEPT.
A. Calcium ammonium nitrate.
B. Diammonium phosphate.
C. Urea
D. Sulphate of ammonium

Soil texture is MAINLY determined by
A.

43.
amount of soil.
B. ability of soil to drain water.
C.

D. air spaces in the soil.

size of particles.

44.

B. Persistenccféough _’
C. Paininthemuscle
D. Shivering and sweating
46. Whichone of the following water pollutants
reduces air concentration in the water for
- A. Acidrain S
B. Oil spillage P
C. Floods SRR
D. Farm chemicals
47. Tendrﬂsarcmod:ﬁed
A. root
B. stem
C. leaf
‘D. branch

(R DURVNTET LT E N 1T PSS I SR

Which onc of the following human activities &

will help to control aoxl erosion. %

48. Which one of the following parts of the skin
is found in dermis and cpidermis?
A. Root hair
B. Sweat duct
C. Sweat pores
D. Sweat gland

The following are signs of a certain sexually
transmitted disease.

(i) Painless sore

(ii) Skin rashes

(iii) Sore throat

The disease is- LIKELY to be

A. Gonorrhoca

““B. Chancroid:
C. HIV/AID

49.

function of amniotic fluid

A. }F acilitate the removal of waste.
_smuBeKeep the foctus moxst
C Acts asa shock absorber




